-Flat End Movable Handle

Flat End Movable Handle

 Handle is foggy plating treated.
Detachable nut is blackened.

‘ © Fit to common movable handwheel.

- Read

y to use.

Good handing.

T = LA I,
\
VFE-10 TM10X1.5P | 0 23 7003-001
VFE-83 3/8"x16 16 99 7003-002
VFE-8 M8x1.25P 16 93 7003-003
VFE-165 5/16"x18 10 78 7003-004

-Elllpse Movable Handle

-
Peg=—']

Ellipse Movable Handle

» Brilliant or foggy plating surface.
= Fit to common movable handwheel.

* Easy

to install

+ Shine and good looking.

THREAD
VEM-10 M10x1.5P 26 13 110 7003-007
VEM-83 3/8"x16 25 13 99 7003-008
VEM-8 M8x1.25P 20 9 80 7003-009
VEM-6 M6x1.0P 16 7 60 7003-010
/ BA
/ ™ " Name Material Surfaced process
KQ Knob | Bakelite (KU) Black
I
mm
VKB-6AA 25 M6 x 1.0P 7003-120A
VKB-8A 25 M8 x 1.25P 7003-121A
VKB-8BA 38 M8 x 1.25P 7003-123A
VKB-10A 38 M10 x 1.5P 7003-124A
VKB-12AA 38 M12 x 1.75P 7003-127A
VKB-12BA 42 M12 x 1.75P 7003-128A
Name Material Surfaced process
Knob (KT) Black
Spindle Steel (ST) Zincing (ZI)

THREAD

 VKB-8K

M8x1.25Px21L

 @40x65L

VKB-8KL

M8x1.25Px63L

@40x65L 7003-134A

SPECIAL USAGE MACGHINE




B_VAdjustable Hand Levers

F

Name Material Surfaced process
Handle Plastic (KT) Black (BK)
Spindle Steel (ST) and black handle (OB)

7003-214A
72 M8 14 7003-216A
VAH-10 92 M10 16 7003-217A
‘ E J]-—O OuTsioe sHape VAH-12 112 M12 16 | 7003-218A
B_YAdjustable Hand Levers
Name Material Surfaced process
Handle
P s:in(:ﬂe Ste(:z(lT()ST) Bimak Kneh
VAH-620 M6x1.0Px20L 43 7003-220A
VAH-630 M6x1.0Px30L 43 7003-220B
VAH-640 M6x1.0Px45L 43 7003-220C
VAH-650 M6x1.0Px20L 63 7003-220D
VAH-6XL M6x1.0Px30L 63 7003-220E
VAH-8D M8x1.25Px30L 63 7003-222A
VAH-815 M8x1.25Px15L 83 7003-222B
VAH-840 M8x1.25Px40L 83 7003-222D
VAH-1020 M10x1.5Px20L 83 7003-223A
Name Material Surfaced process
Handle Bakelite (KU) Black
Spindle Steel (ST) Zincing (ZI)
mm
VRL-8H 20 | M8x1.25P | 56 13 14 |7003-283A
VRL-8HA 22| M8x1.25P | 76 13 14 | 7003-284A
VRL-10H 20 | M10x1.5P | 56 13 14 | 7003-285A
VRL-10HA |22 | M10x1.5P | 76 13 14 |7003-287A
VRL-10HB |25| M10x1.5P | 83 13 14 | 7003-288A

|5 9360° Swivelling Lock Handle

:i\

SPECIAL USAGE MACHINE

360° Swivel Handle
= When pull out, this handle can swivel 360° free.
@ Aluminium handle, all water resistance.
¢ The handle shape features: curve, ball, square 3 types.

M6 x 1.0P x 30L

VSA-1 7003-300A
VSA-2 M8 x 1.25P x 30L 7003-301A
VSA-3 M10 x 1.5P x 30L 7003-302A
VSA-4 M12 x 1.75P x 30L 7003-302B
VSB-1 M6 x 1.0P x 30L 7003-303A
VSB-2 M8 x 1.25P x 30L 7003-304A
VSB-3 M10 x 1.5P x 30L 7003-305A
VSB-4 M12 x 1.75P x 30L 7003-305B




B_\Lifting Eye Ring

1

EX°

S$5400 IRON
VLE-6A M6 x 1.0P 60  [33]20]15] 17 |7003-321A
VLE-8A [M8x1.25P | 80 |34 |20 1517 ]7003-322A
VLE-10A [M10x 1.5P | 128 | 41|25 1820 |7003-323A
VLE-12A |M12x1.75P] 187 | 50|30 | 20 | 25 |7003-324A
VLE-14A [M14x2.0P | 255 | 60|34 | 27| 29 [7003-325A
VLE-16A [M16x2.0P | 383 | 6035|2830 |7003-326A
VLE-18A [M18x2.5P | _ 535 | 71403134 [7003-327A
VLE-20A [M20x25P | 535 | 71|40 31[35[7003-328A| |
VLE-22A |M22x2.5P | 808 |00 | 48 | 38| 47 [7003-329A| |
VLE-24A |M24x3.0P | 808 | 0250 38| 47 |7003-330A
B_YShoulder Locating Unit |
MOQ:1 BOX =12 PCS Unit : mm
VLS-1320 20 7003-335|
VLS-1325 MAX. 25 7003-336
VLS-1330 | 11 55 |4 | 1801 |13 a0 | MBX 7003-337
VLS-1335 7.987 35 7003-338
VLS-1340 40 7003-339
B Bt ok VLS-1620 20 7003-340
VLS-1625 max. % | 7003-341
- : i Y N 8 el R Too3345
5 {HEIF [vis-te40 40 7003-344
a ) ’ VLS-1820 20 7003-345
: | VLS-1825 MAX. 25 7003-346
vis-1830 | 16 | 80 | 6 | W41 48[ 30 | MIOX 7003-347
VLS-1835 11.984 35 7003-348
VLS-1840 40 7003-349
Unit : mm

MOQ:1 BOX = 50 PCS

| =
T = ~ ORDER 4% T E NC
G | ZED .
| VLE-W226 @22 X @6.5 X 4 50 PCS 7003-353
VLE-W2210 222 X @107 X 47 50 PCS 7003-354
VLE-W2511 225 X @11.5 X 4 50 PCS 7003-355
VLE-W2512 @25 X @312.8 X 4’ 50 PCS 7003-356
VLE-W3212 @32 X @12.8 X 4' 50 PCS 7003-357
VLE-W3215 @32 X @15.9 X 4 50 PCS 7003-358
VLE-W3515 @35 X @15.9 X 4 50 PCS 7003-359
| L F
' mm
E[ VAH-21 31 147 15 0.49 7003-460
VAH-22 41 183 16.5 0.64 7003-461
ﬂ for VAH-21, 22, 23 VAH-23 54 231 21 1.08 7003-462
[} L |
1
m mm
E[ VAH-31 37 180 14 0.48 7003-470
VAH-32 37 250 14 0.62 7003-471

2 for vAH-31,32

SPECIAL USAGE MACHINE




B_Ball Pluger Screw-Socket & Slotted ZAVEERTEX"

Material : SCM435 / 302HQ
Hardness : HRC40°t3

I TYPE H TYPE
SCREW DRIVER SL HEX. SET TYPE

T e [ R
i D ! mﬁ@fﬁ“ !1 d !

!
i}

VBP-03I I M3 1 .0 ] 2.0 | 1.5 29 -' 7300A
VBP-04I M4 0.7 25 9 1.5 2.0 20 4.9 3.9 9.8 7003-401A
VBP-05I M5 0.8 3.0 12 2.0 25 29 9.8 4.9 19.6 7003-402A
VBP-061 M6 1.0 3.5 13 2.5 3.0 4.9 14.7 9.8 29.4 7003-403A
VBP-08l M8 1.25 5.0 15 25 4.0 6.9 19.6 12.7 39.2 7003-404A
VBP-101 M10 1.5 6.0 16 3.0 5.0 8.8 24.5 18.6 49.0 7003-405A
VBP-12] M12 1.75 8.0 22 3.0 6.0 9.8 294 19.6 58.8 7003-406A
VBP-16l M16 2.0 10 25 3.0 8.0 15.7 49.0 29.4 98.0 7003-407A
VBP-03H M3 0.5 1.5 7 1.0 1.5 1.0 2.0 1.5 2.9 7003-400B
VBP-04H M4 0.7 25 9 1.5 2.0 2.0 4.9 3.9 9.8 7003-401B
VBP-05H M5 0.8 3.0 12, 2.0 2.5 2.9 9.8 4.9 19.6 7003-402B
VBP-06H M6 1.0 3.5 13 2.5 3.0 4.9 14.7 9.8 294 7003-403B
VBP-08H M8 1.25 5.0 15 25 4.0 6.9 19.6 12.7 39.2 7003-404B
VBP-10H M10 1.5 6.0 16 3.0 5.0 8.8 245 18.6 49.0 7003-405B
VBP-12H M12 1.756 8.0 22 3.0 6.0 9.8 29.4 19.6 58.8 7003-406B
VBP-16H M16 2.0 10 25 3.0 8.0 15:7 49.0 29.4 98.0 7003-407B

SPECIAL USAGE MACHINE




